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7KH (PEDVV\ RI WKH 5HSXEOLF RI WKH 3KLOLSSLQHV LQ %DQJNRN� 7KDLODQG LQIRUPV WKH JHQHUDO
SXEOLF WKDW WKH (PEDVV\ LQWHQGV WR SURFXUH RQH ��� DLUOLQH WLFNHW IRU D %DQJNRN�.UDEL IOLJKW
DQG RQH ��� DLUOLQH WLFNHW IRU D 3KXNHW�%DQJNRN IOLJKW� 7KLV UHTXHVW IRU TXRWDWLRQ LV EHLQJ
LVVXHG LQ DFFRUGDQFH ZLWK 5HSXEOLF $FW 1R� ����� DOVR NQRZQ DV WKH ³*RYHUQPHQW
3URFXUHPHQW�5HIRUP�$FW´�RI�WKH�3KLOLSSLQHV��7KH�GHWDLOV�RI�WKH�SURFXUHPHQW�DUH�DV�IROORZV�

1DPH�RI�3URMHFW � 3URFXUHPHQW�RI�2QH�����$LUOLQH�7LFNHW IRU�D
%DQJNRN�.UDEL IOLJKW DQG 2QH ��� $LUOLQH 7LFNHW IRU D
3KXNHW�%DQJNRN�)OLJKW
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$SSURYHG�%XGJHW � 1RW�WR�H[FHHG�D�WRWDO�RI�7+%����������LQFOXGLQJ
DSSOLFDEOH�WD[HV�DQG�GXWLHV�SD\DEOH

3D\PHQW � 6HQG�ELOO�$UUDQJHPHQW

3OHDVH VXEPLW D VLJQHG TXRWDWLRQ DQG LQGLFDWH \RXU DFFHSWDQFH RI WKH VDLG SURFXUHPHQW�
7KH (PEDVV\ DFFHSWV TXRWDWLRQV VXEPLWWHG GLUHFWO\� RU E\ IDFVLPLOH RU HPDLO DW WKH IROORZLQJ
DGGUHVV�DQG�ID[�QXPEHUV�
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7KH GHDGOLQH IRU WKH VXEPLVVLRQ RI TXRWDWLRQV LV RQ �� )HEUXDU\ ����� ����K� 6KRXOG \RX
UHTXLUH IXUWKHU LQIRUPDWLRQ DQG FODULILFDWLRQ� \RX PD\ FRQWDFW WKH (PEDVV\ DW WHOHSKRQH QR�
��������������H[W������
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